
No. Part Material Working Temperature Working Pressure Burst Pressure

1 Insert CW617N 23-82℃ Max.125 psi 3.5 MPa

2 Washer EPDM

3 Nut HPb57-3

4 Ferrule SS304 Item No.
5 Hose SS304 braiding/ PVC inner tube 64410-TH
6 Insert CW617N 64411-TH
7 Washer Silicone 64412-TH
8 Nut PP+30% Glass fibre 64413-TH
9 Washer EPDM

Toilet 7/8"BC Nut × 3/8"Comp.× 9"

Description

Toilet 7/8"BC Nut × 3/8"Comp.× 20"

Toilet 7/8"BC Nut × 3/8"Comp.× 16"

Toilet 7/8"BC Nut × 3/8"Comp.× 12"


